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I.  Continuation of X Mwn (see note on p. 58): Special exclusions to afflictions (following 179N 12 R¥IN "7 as per Rn”12)
a. King: may wash his face — following v. 1
b. Bride: Newlywed may wash her face — to retain her favor for her husband (first 30 days)
c. New mother (7111’): may wear shoes — to keep her from getting cold
i. Swpw. if there is danger of scorpions, anyone may wear shoes
II.  Amount of food that creates liability — noan nama (a thick date)
a. Question (899 *7): does it include the seed (
i. Note: he didn’t ask whether a bone, ("Yw)), refers to a wet or dry seed, with or w/o its husk
1. swx ’7 asked this since those aren’t called nmyw
a. But: he did ask re: the bone as above, since it is called noa
2. Answer (»wx 77): includes seed
b.  Size: of noan namn
i. A7 a7 larger than nyas
1. 227 know that that’s the minimum it takes to give some gastronomic “settling”
2. Challenge: 2 mam3 may be eaten outside of a 1210 = less than n¥»13 (certainly 1<nx»ad)
a. Answerl (7p7 77): 2 w/o seeds are less than 1 with seeds
b. Answer2 (827): no fruits require N30 (>2mam> > n¥»1), but need no nv)
c.  Challenge: »an testified that at 1w 12 8"’s N2, they ate fruit '8y out
i. Therefore: fruit yap must be in a n210
ii. Answer: fruit is always 8193 OR bread was eaten *x1y (out)
1. Possible proof: completing 14 meals (obligatory in N0
according to 8™) with ®n2In '1n (cakes?) — R¥? > not fruit
2. Rejection: R »»n = fruit, OR if no fruit available
ii.  73r /7 smaller than nx1>
1. Proofl: w"a distinguishes between mRw#pnn; base is n13 so ynn is (next up) namma
a.  Rejection: perhaps regular date is same as n¥»1>
2. Proof2: nmin "1 requires %13 for o, following v. 2 (n9ar defined by ny»aw)
a. If: n¥13 is smaller than nam> and if n¥3 sates, it settles
b.  Rather: n¥13 is larger — nam> “settles” and nx»1> sates
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